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Reading (10 marks) 

Twin thoughts
When Thomas and George arrived in the world, their parents had a reason to celebrate – twice. Thomas and George are non-identical twins. They share the same birthday but they don’t look the same and they have the usual arguments that all brothers have. If one brother has a new toy, the other brother will want one too. However, if the medical books are right, the boys' parents have to treat them as individuals. At times this can be very difficult. 
Clothes can be a particular problem. If mum buys the twins a new item of clothing she always chooses colours or styles that match their different personalities. However, this hasn't always worked out well. Once she bought them new jackets – a green one for Thomas and a grey one for George.  Although he was only two, George refused to wear his new, grey jacket. After a freezing walk in the park, mum gave up and she bought another green jacket. Outside the shop George hugged Thomas and said ‘We’re the same again’ and they both laughed. Mum realised that while she was trying to treat them as individuals, they actually wanted to be the same.

Thomas and George’s speech development has also been unusual. When they were very young, they began to use their own ‘twin’ language that only they could understand. Doctors said they would lose it if they went to nursery but the twins' mum wanted the boys to stay at home. She felt it was their right to use their language and she loved watching them use it.
Over the years Thomas and George have become more independent. George is sensitive and Thomas is more confident but they still have an incredibly close connection. On their eighteenth birthday mum went shopping with George and dad went with Thomas. They had been to choose new mobile phones. When they met for coffee, they had both chosen the same phone in the same colour!

1
Choose the best alternative title for the text.

a 
Mothers and sons
b
Doctors are always right
c 
Similar but not the same
2
Read the text again and answer the questions using your own words.

1
Why did Thomas and George’s parents celebrate twice?


____________________________________

2
What kind of things do the twins argue about? Give an example.

____________________________________

3
Why do Thomas and George’s parents think that they should treat them as individuals?


____________________________________

4
Why did mum buy a second jacket for George?


____________________________________

5
How did Thomas and George feel when George got his green jacket and why?


____________________________________

6
What was special about Thomas and George’s language?


____________________________________

7
How has Thomas and George’s relationship changed over the years?


_____________ ______________________

8
Why is it surprising that they chose the same mobile phones for their birthday?


____________________________________

Writing (10 marks)
3  
Write about the advantages and disadvantages of being a twin.  If you know any twins write about what they are like. Use some sentences with the zero, first and second conditional.

Listening (10 marks)
4 
 Listen to the conversation between Paul and Megan and choose the correct answers: a, b or c.

1 
Paul’s laughing because ...

a 
he’s just heard a joke.

b
 something funny happened at work.

c 
the manager is funny.

2 
Megan thinks Paul got into trouble ...

a 
for being funny in the office.

b
 for talking too much.

c
 for being late.

3 
Paul is trying hard to ...

a 
go to bed early.

b
 leave work on time.

c
 get up early.

4 
Paul knew that he had to go to the manager’s office because ...
a
 there was a note on his desk.
b
 his boss told him.

c
 he was late again.

5 
 Paul didn’t think ...

a
 he was the problem.

b
 there was a big problem.

c 
his boss was fair.

6 
When Paul entered his office, the manager was ...

a 
calm.
b 
nervous.

c 
strange.

7 
The manager told Paul that if he was late again, ...

a 
he would put a clock in the office.
b 
he would probably lose his job.
c 
he wouldn’t be considered a good worker.

8 
The manager really wanted to see ...

a 
Paul Muller.

b 
Paul Meller.

c 
Paul Miller.

9 
When he discovered who Paul was, the manager ...

a 
sent Paul home.

b 
laughed at his mistake.

c 
said sorry.

10 
If Paul meets ‘Paul Miller’, ...

a 
he’ll tell him about the manager’s mistake.

b 
he’ll take him to the manager’s office

c 
he won’t know what to say to him.

Speaking (10 marks)
5
You and a friend would like to go out for the day. Decide which activities you will do.

go to a castle   visit an art gallery   go for a meal   have a swim   have a picnic   go shopping   
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